Deviation [sigma] Deviation [sigma] Flux

Deviation [sigma]

1.0

0.5

0.0

20

10

-10

-20

20

10

-10

-20

20

10

-10

-20

EXO0748-676-JEMX1-MJD54277.551696_lc.txt / MJID 54277.551690 / burstid=6408

B Grey line: exponential fit Peak flux: 0.795+/- 0.337 c/s/cm? n
B g';g:;;”;g_o‘“f\:l;‘?;\;ga”“f“ Fluence : 9.48+/- 3.23 c/cm’ |
L P Duration : 38.18+/- 11.64 s _
- Best fit model: 1. _
B est fluence model: 1. f
B stiduration model: 1. ]
j } | NN Ll RN 0 R A [ Al
i \ le w Lk W YT |
; Exponential fit é
= Expon.time: 11.49+/- 3.30 s (chi*red= 1.03) =
- Wt bbb b Wttt i bt b b TR :
= ﬁ f M ﬁ& :H%ﬂ ﬁw (i Hﬁ i ﬂﬂwﬂ il ﬁ :ﬁﬁ Tﬂﬂﬂﬂﬁ i H ﬂﬂ Hﬁ ﬁﬂ WﬂH Mﬁ WHHH ﬁ WH Hﬁﬁ | ﬂ w W | W i wﬁ m ﬂﬂw w#m Wﬁ %wwwﬁ Hﬁ *W i H#HWH %ﬁﬂﬁﬁ%
; Power law fit é
E Power law index: -1.643+/- 0.375 (chi*red= 1.04) =
= bl Wb bbb b TR T LR L ROR TRNTE T AR T bttty o =
= W S M:WW Vit i W M il WH Wﬁ ity Tt i M g WW%
i T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 14.43+/- 3.17 s, fracgs= 1.50+/- 1.43) =
- Power law index: -1.672+/- 3.141 (chi’*-red= 1.03) -
S b R B b Wt o b b b b
= [ W g it i, jﬁﬁfﬂﬂﬂﬂw Vit WHH ﬁw iy | ﬂﬁH Hﬁ:ﬁ ity W T +Hﬁ+ﬂﬂw A i HW%%
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E
0 100 200 300

Time [s]



